Sawyer Test

Name: 


1. Chain Saw fuel is made up of 
 .

a) Unleaded gasoline and an additive to increase the octane rating

b) Bar and chain oil and two cylinder oil

c) Two cycle engine oil and unleaded gasoline

2.
The main role of the swamper is to 
.

a) Ensure that all necessary PPE is worn while working.

b) Minimize safety hazards such as kickback, pushback, and overreaching.

c) Assist the sawyer by removing cut limbs and branches.
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3.
The most dangerous area of the chainsaw bar is 
.

4.
This is the most dangerous area (see above) of the bar because 
.

a) This area is likely to get caught in a bind or cause pull-in.

b) It has the potential to cause kickback when caught or pinched.

c) It is most likely to strike the ground or the sawyer’s left thigh.

5.  Name one or more maintenance tasks performed at least daily.

6.  Adding oil to the fuel mixture is 
.

a) …vitally important, neglecting to do so can ruin a saw in minutes.

b) …a good idea, otherwise the saw can overheat in warm weather.

c) …suggested when breaking in a new chain.

7.  List three pieces of sawyer PPE.

8.  Chainsaws are powered by a 
.

a) Two-cycle engine.

b) Four-cycle engine.

c) Two-cylinder engine.

9.  A properly sharpened chainsaw should produce 
.

a) Almost no woodchips at all.

b) Only very fine sawdust.

c) Large woodchips or shavings.

10.  If your saw tends to cut curving to one side you conclude that 
.

a) The teeth have been sharpened unevenly.

b) The chain needs to be tightened 
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The bar and chain oil has run out.

11.  The part of the chain tooth that you sharpen is 
.

12.  The two major forces constantly acting on any tree are 
.

a) Push-back and pull-in.

b) Tension and compression.

c) Binding and bucking.

13.  “If the axe is dull, and one does not sharpen the edge, then he must use more strength; but 
__________ brings success.”
14.  When cutting up this tree you need to be aware that 
.
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Cutting into the top of the log will result in the bar binding due to compression.

b) Cutting into the bottom of the log will result in the bar binding due to compression.

c) Tension and compression do not apply in this situation because one end of the tree is suspended.
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15.  In this situation the chainsaw bar will 
.

a) Bind when cutting into either side of the log and wedges will be needed.

b) Bind when cutting into the bottom of the log because of tension.

c) Bind when cutting into the top of the log because of compression.

16.  Two key character qualities the Swamper should have are _______and ______?

a) Alertness

b) Generosity

c) Caution

What did you learn in this course that will be helpful to you in serving others, in chainsaw work, or deployments?

